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SECOND REVISION TEST - 2024
- Standard X - - RegNo[ [ [ [ [ []

MATHEMATICS
Time:a.ooprs . | “ Datk . | Marks : 100
|. Choose the correct answer: i 14x1=14
1. A={a,b,p},B={2,3,C={p,q,r, s} thez(nj(AuC) x B is '
a) 8 b) 20 2 d) 16

2. Ifg= {(1 1), (2,3), (3,5), (4,7)} is a function given by g(x) ax + 3 then the values of a
and pare

a 12 e c) (-1-2) A (12
3 |fthe HCF of 85 and 117 is-expressible in the form of 65m — 117, then the value of mis
a) 4 w{ c) 1 d) 3
4. The solution of (2x — 1)? = 9 is equal to _
2) -1 b) 2 | V)—/'l.? d) .none of these
5. In square matrix A = [&],,,,, if i <jand a; = 0 tiien its called
a) zero matrix ~ b) upper triangular matrix
q)'éver triangular matrix d) identity matrix
6.. If AABC is an isosceles triangie with £C =90°and AC =5cm, thenABis
a) 2.5cm b) Scm c) 10 cm ' QQ);JEi cm
7. The area of triangle formed by the points (=5,0), (0,-5) and (5,0) is |
a) 0 sq.units | | «b)ﬁ sq.units
c) 5squnits - | d) none of these

8. Find the number of straight lines that have slope 1 and pass through the point (3,0)

a 1 | b) 2 2 c) 4 Y o d—)/ ountless
9. If sind = cosh, then 2tan2e + sin?0 — 1 is equal to

-3 s, ~ . .‘
e T 4 o) e ucrby d)_g

10. The electric pole substends an angle of 30° at a point on the same level as its foot. At
a second point ‘b’ metres above the first, the depraqsmn of the foot of the pole is 60°.

The height of the m?fnietms) is equal to
a) J3b ‘ % g -g-
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. It the surface area of 3 cylinder is 264 m? and the volume is 924 m? the ratio of its
:i;n?ter t0 its height is - |
3.7 b) 7:3 c)6:7 d) 7:6

A shuttle cock used for playing badmmton has the shape of the
a) a cylinder and 3 sphere

£,C) .a Sphere and a cone

12. combination of
b) a hemisphere and a cone

drlﬁtum of a cone and a hemlsphere
13. Which of the followmg 12 correct?

a) P(A)>0 <PA)ST  c)P@) =0 - d) P(A) <0
14. Therange of the data 8, 8, 8,8, ... 8is - il
| b) 1 CLB s - d) 3
| Part - ||

ll. Answer any 10 questlons (Q. No.28 is compulsory)
19. A relation R is given by the set {(x, y) [y =
‘and range. | et e
16. If A= {2,
find B.

AT Compute X, such that 10% = x (mod 19)

| 10x2=20
X+3, X e {0,1 2,3,4,5}}. Determine its domain

=] 0 1 2) and f: A—->B |s an onto functlon defmed by f(x) = X% + X + 1 then

{;} ; Nis even,neN
18. Find ::1B and ay: whose h term | h"

3';-;1- ; nlsodd neN

19. Detemune the nature of roots for the quadratlc equation 2x2 — 2x + 9=0
Bl - 22 B
20, A= "‘;1—7 0:-;’ % ~then verify (AT)T A
21. The peﬁmeters of two similar triangles ABC and PQR are respectively 36 cm and
24 cm. If PQ =10 cm ﬂndAB

22. The line thmugh the pounts (-2, a) and (9 3) has slope y Fmd thevalue of a.

é

axls are -5 and '3

4 -
his 48 m
he top of the tower is 30°,

23. Find the equation of a line whose mtercepts on the xandy

24. A tower stands vemcally on the ground. From a pomt on the ground, whic

away from the foot of the tower, the angle of elevation of t
Find the helght of the tower.

_ 25 The radius of a sphere

area.

Increases éS%. Flnd the percentage,increase in its surface
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26

./

28.

Hi.
29.

30.

31.

-5
33.
. The hypotenuse of a right angled triangle is 25 cm and its perimeter 56 cm. Find the

& &

37.
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The volumes of a solid right Circular cone i

the radius of the cone,

The mean of a data |s 25
0 and its coefficient of variati '
P ration is 18.75. Find the standard

Gokul and R
g "ahul are friends. What Is the probability that both will have (i) different
ithdays (ii) the same birthday? (ignoring a leap year)
Part - |l | |

Answer any 10 questions. (Q.No.42 is c:)mpulsory) | 10x5=50
Le}A= XeN/1<x<4), B={xeW/0<x< 2} and C = {xeN /x < 3}. Then verify that -
Ax(BmC)=(AxB)n(AxC)

A function f : [-5,9] - R is defined as follows :

6x+1 ; ~-5<x<2
f(x)= /5 - ST ' 2f(=2)--f
() X g 2SK<6'ﬁnd ) (6)

3x-4 ; 6<x<9 fl4)+f-2)
If S,, S,, ey e o S, are the sums of n terms of m A.P’'s whose first terms ara
1’,2,3, ...... m and whose common differences are 13,5......2m-1) respeé:tively then
show that |
S, +8,+8, + « 3 mnfonsd
1 2 3 ........... +Sm-2mr'(mn+])
Find the sum of 152 + 162 + 172 + __ + 282

Find the values of a and b ifthe polynomial is perfect square : 4x* — 123 + 37x2 + by + 4

Iengt_h of the smallest side.

. State and prove Angle Bisector theorem
: 1Find the area of the quadrilateral whose vertices are at (-9,0), (-8,6) (-1,-2) and
(—6’—3) ] ) ]

lYou are downloading a song. The percenty (in decimal form) of mega bytés ’remaini'hg'
to get downloaded in x seconds is given by y = ~0.1x + 1. | ‘
) Find the total MB of the song |

i) After how many seconds will 75% of the song gets downloaded?

i) After how many seconds the song will be downloaded completely?

.. If cotd + tan@ = x and secﬁ — C0s0 =y, th_an1 prove that (xzy)gz x (xyzﬁ 8
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39. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and /7 cm,
find the volume of the frustum.

40. Water is flowing at the rate of 15 km per hour through a pipe of diameter 14 cm into @
rectangular tank which is 50 m Iong and 44 m wide. Find the time in which the level of
water in the tank will rise by 21 cm.

41. A coin is tossed thrice. What is the probability of getting atmost 2 tails or atleast 2

heads?
T 3 o o 1 _ +
42. If A = B = find the ' matrix C, such that4A-3B + C =0
| 3 4] |45 B
) Part - IV |
IV. Answer all the questions. | | 2x8=16

LT A 7
43. a) Construct a triangle similar to a given triangle PQR with its sides equal to 3 of

' 7
the corresponding sides of the triangle PQR (Scale factor = >1)

3
%A ~ (OR) |
b) Construct APQR in which QR = 5 cm, £P = 40° and the median PG from P to
QR is 4.4 cm. Find the length of the altitude from P to QR.

44. a) Nishanth is the winner in @ Marathon race of 12 km distance. He ran at the uniform
speed of 12 km/hr and reached the destination in 1 hour. He was followed by
Aradhana, Jeyanth, Sathya and Swetha with their respective speéd;of 6 km/hr, 4
km/hr, 3 km/hr and 2 km/hr. And they coverd the distance in 2 hrs, 3 hrs, 4 hrs and
6 hours respectively. | | |

Draw the speed-time graph and use it to find the time taken to Kaushik with
his speed of 2.4 km/hr. ‘3 0
e (OR) . b
b) Draw the graph of y = 2x%~ 3x — § and hence solve 2x* - 4x-6=0
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